B itk 3555 R AT A IR 2 7l K2 s B 6 5 5 T BR o w3802 2 o 1 1 28 WE A BT - B HCTfE 1
SE W PETR AN FE AT AT HE ] > 310 ] 2 75 WEAS B[R] AR 2 7 22 78 0 A 1] 738 2 127 2% T 2 74 2 IR 4 % 25
A1 2 T 5| 2L A9 F fo] 16 26 7K 1 AF ] 2 AT

g; P EHLE

ALLACCESS
FEIEE (ER) AROF
CHINA ALL ACCESS (HOLDINGS) LIMITED
(I D 2 B g e A0 52 9 A7 IR )
(B3R5 : 633)

ATHREX
%ﬂ%?ﬁﬁ&%ﬁ??‘%ﬁ
BR LT KRG

RRRELEFIHRBER LT RE

HE G E M > BERT L ERROES > R F-=F LI HRERKE (K
N FIHEAT 51 % RE £ 119 BR8] 375 48 A VR Y1 R8 75 52 ) W Bl E AR 4 B T 8 A A
L PARE T3 B E 49 N R 17.2600 (B 45 it #921.8545 1)t 306,400 % 7 T
B0y (R A R E 1T AR SR 40.14%) - HESRIEAEAILANRY
5,287,054 (M55 A £96,692,473%E 7)o TH A< 42 18159 DR A i 5 = I e 2 o

T b By RORE 45 FIT U 75 A0 N RS H2,798,00000 (FH %5 i #73,542,0003 70) > HEZE R
F i B RZ N E o

R IRE > RIRBCE O A #5419 A T HE 22 o

L i 8RR B =&

AR TR RIEE T E - Jo i R AS YRy B S E (IR i BRI SR I EE A
B 5 5 4 OF 55 WA 2 Al — JHOH T i 22 5




Zh PR B A () ARA R ([ARF)) AR —F =41 +MH >N

H=H > "AHEH > NATWHEANA =+ —HORE > BRXEAA IR &
AR 2345 B Y w a Mew] e B HA By —F — = 1A —+MH > AA=H > AAL
Ho NA+HME EANA =+ —HBA IR EE B AME#E -

RRRELHERTIHERABERLDT KRG

EHEGHELEM  BEWHERRWKN > R T4 LA HLHEREE (K
N BV BEAT 5 1% 0E 75 1) BB 2 7]) 35 i3 e R II 58 95 38 &) T Bl ZE A2 B T 35 o B 1 O X
306,400 B Ry (FHE A B RE ST AR BE£0.14%) ([RKXBE])

ZIKYJ”\W%%IEE%H%ET SORTE A A 2 o N R 5,287,054 00 (FHZE i 46,692,473
s ME N EE A A E%n%m*&ﬂ%ﬂmﬁﬁnm%%ﬁﬁé
ﬁﬁ%&ﬁﬁﬁo

AR S IAAR - RRECE C A A SRR 19 AT o HE 4

BEREBERHN-—REH

BAE EINTE I3 28 5 e gl ZE AR b i (e AR 58 = 300303) » Bk EZEHLEDH L
S0 R LED IR W B i WF 25 A0 22 & o LEDE OCAL M B Rl © 2 e R 7% 8 4 o
MP3/MP4#% i #% ~ 2Bk E N R Ak - DVDIE AU - BURS A% - BUAS AHAE X PDA
(fff N B B 28 B A 4000 > i LED AR B S i 32 25 VR 2 A B -

WEBRCBMHOMBERE > BRR -F-=F£="HA=+—HNEETHEHL LA
R #814,000,0007C » RN E —F— " F+ H=+—H ILFERREEL H A
R #495,200,0000C > BRAEBE - F——F+ A=+ —HBM_F—-"4F 1+
=+ — Bk A B AT & A 0 A& & N R 90,800,0007T F1 &) £y A R



107,200,000 » R/ #EE X ——HF+ - H=+—HBF_F——H+_H=+—
H 14 B p B 42 & A 2 9 &9 B N R %80,200,0007C F1 4 A5 A %91,500,0007C ©
AN HE > BRO T EA S N354T -

HESENERR#ES

ZIRWRANFAR F—=ZFHH ~+W0H > “F—-=4FNA=H “F—-=4F
ANHIH » ZF—=4H+MHH &K ZF =440 24— HTlEA B SRR
Wt B —F =1 _+WH - NH=H > ANHLH > A +MHE &N
A+ — B - A5 B RE 40 8 8 1 iy B B BUE R B - R = F — =4
LA T H 8RR — R A r s o J S A — 25 R A 5 SROR Y I
A BT S B SO — A0 SR AN AR I B MBL B o D SRR AR A R AR
& o

T A A 50 TR A Y 8 S T SR IR B B ) SO AR A T U £R 4  R HE2,798,000
JC (FHEE A £93,542,000% 70) > W9 E MR —F——4F+ A =+ —HIE
T B L o B (B 0 22 BT o MEZE AL T A AL o B S TE T A 3K % A
AR B ) — B T A o AT — 20 B i S R A AR B Y BB IR O e B i o

B (WAL EDS RS ARMEHEE . BAFaH WA AL K
P TR ) R B 2

i R B BV R =

MR B BLRIEE  E > Sl S A R R I ORE B AR A s A
Bl A2 5 & PR a5 WA 2 "l — JHZH TR L ) -

BBEAXARAARETHNESR
AR AT — RECEE WA A > H BRI 2 R SRS A 1R AR S R

W 9 DA 7 5 I M R 5 A I T 3 e 0 B 4 i 0 O o 1 2 8 i
P



HRTASHEA AR TS EHE - AR AMBTHSH HERGIEX S0 -
MEF TR I - 2 MAEfs > AR — D5 B A AR - AL B
AU B B 45 R RS 2 A S A N By S =5 e

K A
FEIZE R BRA T
17 I 38 %%
wE R

iy > A =LA RH

AR AR LI R EIR A9 8 80 2 #2170 5 A R 170.79 70 19 BE 3 5 #7578 T - 1 (il WY T e
1 B [ C T (@) > R I8 - H I AS W 26 7 A 1] < 1 A B 1] E 2 A8 14 I HE 52
AT Ao H At B 5 57 50 5 AT LA s o

TR LS TS A BT H 25 BT WISE L~ Al I 3 S RAG S BB o T 7 JF AT T i
P EEIE A~ B IR R M -



